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Test 1 Name:
Dusty Wilson
Math 098 ‘ There'll be plenty of time to rest in the grave.
. Paul £rdés (1913 - 1996)
NO work = no credit Hungarian mathematician
No Symbolic Calculators
-4 3
Warm-ups (1 pt each): —42= = {4 (-_4)2 = - m@cﬁ’%?:y&t@?

1.) {1 pt} According to Erdds (see above), where should we catch-up on sleep?

j:a-% 'tgfi@.. «@Mu@;_

2.) {4 pts) Does the following graph represents a function?

3.} {6 pts) Find the following function values of g(z) =5z"-7

a.) g(S) = ?7%

Solution: M(S

$Caik) =% - (ra2_3)
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c) gla+h)—g(a) = foeah + Sh?
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4.) (10 pts) U.sing the given graph, answer the following:

a.) Evaluate f(——2): 2. : ; | b

b.) Solve f(x}=1
A==

c.) Estimate the zero(s) of f?

T

Kl -3 4

s

d.}) Write the domain of fin ?ntervai notation.
(=, -1}

e.) Write the range of f in interval notation

[~2,2]

5.} (4 pts) Use your caiculator to generate a graph of f(x) =0.5x° +1.08x" —=2.72x —5.91 and then

find the zero(s) of this polynomial to the nearest thousandth. Carefully copy the graph into the box.

zero(s) graph
»Y
A= 1.536
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6.) {6 pts) Consider 6 —9x* +3x~2x*

a.) Write in descending order
of A
= Ix’ 2w +ax + 56
b.) What is the degree of the given polynomial: o

¢.) What is the leading coefficient of the given polynomial: “"Gf

7.) (8 pts} Add/subtract and simplify

a) (~a’+5b—5ab—2)+(5a" ~b+2ab+11)

Solution: L_fa;?- - 3“&»}’3 “’g“"!"{}g +

b} (4% +3y-2)=(=y" +5y+6)

Solution: E \:{?‘ ~ 2 Y - &

8.} {12 pts) Multiply and simplify

* (36]"4"2)(5@{-*4) Sclution: ES“"-?#)“ “1c3, - B
ya

b) (5w-2)

w2 Fw-) Solution: 7 St ~-{a e + Y

- "Lf{,‘}.&/ \QWM@QWJ“*W
e 2fwE - 2Oway

c.) (xf +2x+1)(x2 —x+ 2)

3 2
Solution: Xt 4+ ¥ zx + 2
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9.} {24 pts} Factor

a) 5y’ -5y +4v—4 b.) 3p*~15p—72
ng\jJWYYz\+§%VM%} = %4. szﬁ"‘@wz%}

3Cp- ‘@’5(,.,? +2Y

gy,

= Sy ly-1) +4(y-1)

Solution: ngg,z'w% 3 ¥ 1) soiution: 3L p-% \3-(?"* 2)
c.):aij;a—lO e 2 eo ) d) 12171;;19n1m18 P
Lz yren T 1 2 11L-8) v
oot )iz -0y 2T Bl )
- al(ba-5) 4 2l be -2 2 Ypa Lo o)+ 9030 - 2)
o (ot Y (b -5) 2 4 3 L) (Ure+2)

Solution: (‘“f;’ = Sl‘) (;‘3‘“3“15

Solution: QL{F’W * @}) (‘-2 L *-"&\

e) 16y —m'n® f) 8+1250°

y o
Solution: ((‘f‘g o %5( {‘fy - MH,;J 3} Solution: &Z*fw& (\‘{ [ors + LS }
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10.} {12 pts) Solve

a) 6x+x* =355
- R
= K o x ~55 =0

2 (% +IX~-5) =0

Solution: >( = -1l o R, X = 5

b)) 2x(4x+3)(x=5)=0

Solution: 2§ = & op X = -3; ol e g
“+
c) x*=9=0

S (x3Xx-2)=0

X= F7

Solution:




